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Directions: Write your answers in one or more of the provided booklets. To get
full credit you must show all your work. Simplify your answers whenever possible.
Be certain to indicate your final answer clearly. This exam is due on Tuesday,
April 21 at 2:00 PM

. Evaluate: —-5-6(2—3)+7

. Evaluate: —3%+42(8 —5)% —3(11 —8)

Evaluate: —2zx+43yifxr=-2andy=7.
2 3 10
. Evaluate: ——-—-[——
valuate 5 1 ( : )
2s — ta?
Evaluate: S—; ifs=3,t=5and x = —2.
8 J—
. If ¢ is given by the formula
c=+va?+ b,
find c if a = —5 and b = 12.
Simplify: (2?y*)?(zy)?.
) . —83363/9
Slmphfy: W
Expand and simplify: r —4)(x +6).
Expand and simplify: z+3)(x +5).

Expand and simplify:
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Expand and simplify: 2z —3
Expand and simplify: (
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Expand and simplify:
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Expand and simplify:
Divide
Divide
Solve:
Solve:

Solve:

Solve:

Find a if all real numbers are solutions to the equation 2(5x — 4) = 5(2z + 2) + a.

(2z +5)(2x — 5)

45yt — 8ay? + 10xy?
2112 '

62° 4+ 32t — 922+ — 12
3x '
Tr —3=3(z—5)

32—-3z) —4=—-24xr—-5)—x

5a:_:7c+7
3 2
20 — 4 Sx + 2
5= 2
T+ YR

Find five solutions of the equation 3y — 2x = 18

Complete the following table in such a way that all resulting pairs (z,y) are solutions of

the equation 2z — 3y = 8.

Find a linear equation with two variables that has (—1,2) as a solution.
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Solve for y:  3x — 4y = 12.

Solve for x: b —2y =17

Find m if (1, —3) is a solution of the equation y = mz — 7.
4
Find b if (2,3) is a solution of the equation y = 37 +0b

Find m and b if both (0,4) and (—1,3) are solutions of the equation y = mx + b.
Hint. Use the first solution to find b and then the second to find m.
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